Cylinders according to standard ISO 15552
VDMA 24562 - Accessories - Sensor brakets

1%

Series 1319 + 1333

Sensor brackets

for series: Dimensions
1319 - 1320
1325 - 1345 Bore L
1330 - 1332 @32 60
1348 - 1349 @ 40 65
g 50 77
J 63 87 |
@ 80 105
@100 125
9125 145
@160 184
@ 200 222
1320.A Bracket for cylinder sensors @ 32 + 40
1320.B Bracket for cylinder sensors @ 50 + 63
Ordering code 1320.C Bracket for cylinder sensors @ 80 = 100
1320.D Bracket for cylinder sensors @ 125
1320.E Bracket for cylinder sensors @ 160
1320.F Bracket for cylinder sensors @ 200

for series:

1319 - 1320
1325 - 1345
1330 - 1332
1348 - 1349

Sensor brackets for type SLIM

Dimensions
Bore L
0 32 48
@ 40 54
g 50 66
J 63 76
@ 80 96

@100 112

1320.AS Bracket for cylinder sensors @ 32 + 40
Ordering code 1320.BS Bracket for cylinder sensors @ 50 =+ 63
1320.CS Bracket for cylinder sensors & 80 + 100

Sensor for cylinder

For technical characteristics and code see chapter 6 “Magnetic sensor”

S R



_k/ Series 1320 Cylinders according to standard ISO 15552 |
PreuNaX VDMA 24562 - Accessories - Fixing device

Distributor supports

) ) Fixing holes for valves series:
This accessory permits to mount a valve or an electroval- @ @
ve on a side of the cylinder. The support is con A Q QC CQ Q Al A=414/2
nected to the threaded cylinder tie or false tie and, on it, B $D D$ B B =824
can be mounted either a threaded distributor or a C = 828, T488, 488, 484
base on whic can be mounted an ISO distributor. The FE £Q @ e E - %’88
connections are made by means of joints and F = Bases for ISO
pipes. All of the threaded holes on the support plane G$ QG distributors size 1 e 2
serve as receivers valves as indicated on the attached H @ @H (cod. 1320.21 e 1320.22)
drawing (|_3| = _?‘51%2

For ties cylinder series 1300+1308 |

70

Ordering code
1306.15 (@ 32+3100)

For shaped pipe series
1319 + 1321 /1325 - 1326 / 1345 + 1347

1330 + 1333 /1348 + 1350 B -+ -+
s e, g 1N o® Do &
Ordering cod . DA
rdering code \: - | @@@
1320.15 (9 32 - @40) L

e ©
1320.16 (@ 50 - ©63) p o o
1320.17 (@ 80 - 3100) ||

1320.18 (O 125) 0
1320.19 (@ 160)
1320.20 (@ 200)

For clean profile cylinder series 1386 + 88 / 1396 + 98

Ordering code

70

1386.15

Bases for ISO distributors B

@ﬁdﬁ'@@,
1T o

6P %%

D

1 OGO

A B C D

Ordering code

1320.21 base for ISO 1 electrodistributor 40 75 15 G 1/8"

1320.22 base for ISO 2 electrodistributor 50 95 20 G 1/4"

. W=




_h/ Series 1320 Cylinders according to standard ISO 15552 |
PreuNaX VDMA 24562 - Accessories - Piston rod lock

General

The piston rod lock devices are clamping units mounted on cylinders front head. They allow to lock the piston
rod in any position.

Piston rod clamping is mechanically obtained by springs actuated purpose-made jaws. This method allows to
lock the cylinder in the desired position, should the air pressure drop.

The piston rod lock device is not a safety device.

The clamping force is higher than the one developped by the microcylinder operating at 6 bar (maximum
suggested pressure), however, it is suggestible to slow down the cylinder speed in order to decrease the kinetic
energy before actuating the piston rod lock. It is advisable to balance the pressure in the cylinders chambers
with pressurized centre distributors once locked.

The piston rod lock device cannot be used with stainless steel cylinder piston rod.

This piston rod lock do not prevent the piston rod rotation as it works axially.

Construction characteristics

Mounting bracket anodized aluminium
Body anodized aluminium
Clamping jaws hardened alloy copper
Piston acetal resin

Seal NBR oil-resitant rubber
Springs springs steel

Technical characteristics

Fluid clean air

Working pressure 3+6bar

Working temperature -5°C++70°C

Functioning mechanical-double jaws

Locking axial, two-directions (normally locked)

Unlocking pneumatic

Clamping force with static @32 @40 @50 063 @80 @100 @125
load for different bores 600N 1000N  1400N  2000N 5000N  5000N  7000N

"Attention: Dry air must be used for application below 0°C"

Use and maintenance

Do not exceed the above technical data.

The piston rod lock does not require maintenance if properly utilized. However, it can be disassembled if
needed.

The working inlet port has to be pressurized for assembling the piston rod lock device on cylinder. Alternatively
adjust the jaws with screw located on connection.

Spare parts are not available.

- s



Cylinders according to standard ISO 15552 Series 1320
VDMA 24562 - Accessories PuEuNAX

1%

Cylinders for piston rod lock |

_ —
—
AM
Ordering code
13 — —.0.stroke— —.B - Order piston rod lock separately. Do not use
with stainless steel or hexagonal piston rod
Piston rod lock complete
oD2
u F2 L8
\
|
I o 14
2| g —
%]
R Bore Weight gr.
L7 32 194
40 271
- 50 530
Ordering code 63 858
1320.9.51BS 18000 ;;?,(2)
- Do not use as safety device
125 5100
Piston rod lock bracket s
oD2
T— il
; S h p
ey |
RT T T2
*LL Bore Weight gr.
s = 32 142
= 40 171
Orderi d 50 360
rdering code 63 486
1320.9.51S 80 1060
100 1700
125 3500
Piston rod lock and housing
k
2
3 B E Bore Weight gr.
Sp—-- s 32 142
40 171
o B 50 360
rdering code 63 486
1320.0.51B 80 1060
- Do not fety devi 100 1700
o not use as safety device 125 3500
Table of dimensions
Bore AM B D2 | D3 F2 H | H1 | H2 | H3 | H4 KK L2 | L3 | L7 | L8 | MM| RT | T1 | T2 | TG |WH
32 22 | 30 | 20 | 30,5 M5 67 | 62 | 17,5 18 | 18,5/ M10x1,25 58 | 10 | 45 | 31,5| 12 | M6 | 13 8 32574
40 24 | 35 | 24 | 3 | G1/8" 8 | 83 22 | 22 | 23 M12x1,25/ 65 | 10 | 50 | 36 | 16 | M6 | 13 8 38 | 85
50 32 | 40 | 30 | 40 | G1/8" | 105|100 | 25 | 25 | 26 |M16x1,5| 82 | 12 | 60 | 455 20 | M8 | 16 | 15 |46,5|107
63 32 | 45 | 38 | 45 | G1/8" | 121 | 116| 30 | 30 @ 31 |Mi6x1,5| 82 | 12 | 70 |49,5| 20 | M8 | 16 | 15 56,5 107
80 40 | 45 | 48 | 45 | G1/8” | 164 | 155 | 36 | 36 | 37 | M20x1,5| 110 | 20 | 90 | 61 25 |M10| 20 | 18 | 72 | 126
100 40 | 55 | 48 | 55 | G1/8” | 172|155 36 | 36 | 37 | M20x1,5| 115| 23 | 105| 65 | 25 | M10| 20 | 18 | 89 |143
125 54 | 60 | 65 | 60 | G1/8” | 210 | 195| 56 | 55 | 56 | M27x2 | 167 | 45 | 140 |86,5| 32 | M12| 30 | 22 | 110 | 187

S SRR



| Cylinders according to standard ISO 15552 Series 1320 W’_
VDMA 24562 - Accessories - Fixing device f—

Front and rear flanges (MF1 - MF2) |

Iss I
@

Plate which allows anchorage of the
cylinder at a right angle to the plane. It
is made of zinc-plated extruded steel.

ZF+stroke

Front ,@L J@ Rear =

[
i
il

ml |m

w
Bore 32 40 50 63 80 100 125 | 160 200
E 45 52 65 75 95 115 140 | 180 220
FB (H 13) 7 9 9 9 12 14 16 18 22
MF (JS14) | 10 10 12 12 16 16 20 20 25
R (JS 14) 32 36 45 50 63 75 90 115 135
TFJS14) | 64 72 90 100 126 150 180 | 230 270
TG 32,5 38 465 | 565 72 89 110 | 140 175
UF 80 90 110 120 150 170 205 | 260 300
Ordering code ZF 130 145 155 170 190 205 245 | 280 300
Front w 16 20 25 25 30 35 45 60 70
1380.0.03F L2 5 5 6,5 6,5 8 8 105 | 95 12,5
Rear S5 (H13) 6,6 6,6 9 9 11 11 13,5 18 18
1380.9.04F Weightgr. | 190 250 480 620 | 1430 | 1990 | 3750 | 6350 | 11350

S SRR



Cylinders according to standard ISO 15552
VDMA 24562 - Accessories - Fixing device

Standard mounting foot brackets |
. E
Ordering code
H TG
1320.9.05F (1 piece) |
fo- .
¥z o0
AU 4 AB
c TR |
XA+stroke
-1 = ml
uJ
: = =
g B
[ T L L T ]
SA+stroke
Bore 32 40 50 63 80 100 125 160 200
AB (H 14) 7 9 9 9 12 14 16 18 22
AH (JS 15) 32 36 45 50 63 71 91 115 135
AU (20,2) 24 28 32 32 41 41 45 60 70
C 35 35 45 45 55 56 68 82 90
. E 45 52 65 75 95 115 140 180 220
Elements used to anchor the cylinder parallel H 8 8 10 10 12 12 16 20 20
to the mounting plane. They are made of cast SA 142 161 170 185 210 290 250 300 320
luminium, pain lack.
aluminium, painted blac TG 32,5 38 465 | 56,5 72 89 110 140 175
TR (JS 14) 32 36 45 50 63 75 90 115 135
XA 144 163 175 190 215 230 270 320 345
Weight gr. 45 65 140 175 360 470 920 | 2300 | 3200
Short mounting foot brackets (in sheet metal MS1) |
. AT TG
Ordering code ‘*
1320.9.05/1F (1 piece)
=
<
%0 I
‘ AB TR
Aol AU
XA+stroke
— |
SAs+stroke
Bore 32 40 50 63 80 100 125 160 200
AB (H 14) 7 9 9 9 12 14 16 18 22
AH (JS 15) 32 36 45 50 63 71 90 115 135
AU (+0.2) 24 28 32 32 41 41 45 60 70
AO (x0.2) 11 8 15 13 14 16 25 15 30
E 45 52 65 75 95 115 140 180 220
AT 4 4 5 5 6 6 8 9 12
g‘/ﬁnmdee“rtsp :;?&‘?Oa”"hor the SA 142 | 161 | 170 | 185 | 210 | 220 | 250 | 300 | 320
i TG
the mounting plane. They are o 32,5 38 46,5 | 56,5 72 89 110 140 175
made of cast ( ) | 32 36 45 50 63 75 20 115 135
aluminium, painted black. XA_ 144 163 175 190 215 230 270 320 345
Weight gr. 65 80 170 190 380 452 1090 | 1190 | 3450




Cylinders according to standard ISO 15552
DMA 24562 - Accessories - Fixing device

‘Front clevis (not specified by ISO-VDMA standards)

V

Series 1320 k}

Ordering code

1380.9.08F

L2

FL

Bore 32 40 50 63 80 100 125 160 200
CD (H9) 10 12 12 16 16 20 25 30 30
E 45 52 65 75 95 115 140 180 220
FL (+0,2) 22 25 27 32 36 41 50 55 60
H 9 9 1 11 14 14 20 20 25
L 13 16 16 21 22 27 30 35 35
MR 10 12 12 16 16 20 25 25 25
Used t tth lind ith el TG 32,5 38 46,5 56,5 72 89 110 140 175
Sec o mount the cylinder either paraiel or UB (h14) 45 52 60 70 90 | 110 | 130 | 170 | 170
at a right angle to the mounting plane; allows 2 55 55 65 65 10 10 10 10 1
the cylinder to self-align under load. Made of ’ ’ ’ ’
aluminium alloy, painted black. S5 (H13) 6,6 6.6 9 9 L LL 14 18 18
Weight gr. 50 75 125 190 380 620 1180 1780 2900
Rear clevis (MP2)
Ordering code L2
cD &
1380.9.09F -
MR
L H
XD+stroke
Bore 32 40 50 63 80 100 125 160 200
CB (H9) 26 28 32 40 50 60 70 90 90
CD (f7) 10 12 12 16 16 20 25 30 30
E 45 52 65 75 95 115 140 180 220
H 9 9 " 1 14 14 20 20 25
L 13 16 16 21 22 27 30 35 35
MR 10 12 12 16 16 20 25 25 25
Similar to type 08 but includes a hinge pin. 1G 32,5 38 465 | 565 72 89 10 | 140 175
This type of mounting allows anchorage of the uB 45 52 60 70 90 110 | 130 | 170 170
cylinder either parallel or right angle to plane; XD 142 160 170 190 210 230 275 315 335
the cylinder rod can oscillate and self-align as L2 5,5 5,5 6,5 6,5 10 10 10 10 11
necessary when under load. It is made of S5 (H13) 6,6 6,6 9 9 11 11 14 18 18
aluminium alloy and painted black. Weightgr. | 80 | 130 | 185 | 310 | 530 | 910 | 1710 | 2760 | 3820




Cylinders according to standard ISO 15552

Rear male clevis (MP4) |

Ordering code

1380.9.09/1F

)
N\
L ©
©

~r
TG
E

©

XD+stroke

Bore 32 40 50 63 80 100 125 160 200
CD (f7) 10 12 12 16 16 20 25 30 30
E 45 52 65 75 95 115 140 180 220
o ) ) EW (22) 26 28 32 40 50 60 70 90 90
Similar to 09 clevis except for the connection, H 9 9 1 1 14 14 20 20 o5
which is male rather than female. Used to L 13 16 16 o1 o0 o7 30 35 35
mount the cylinder either parallel or at a right
angle to the plane; the cylinder rod can MR 10 12 12 16 16 20 25 25 25
oscillate and self-align as necessary when TG 32,5 38 46,5 | 565 72 89 110 | 140 175
under load. It is made of cast aluminium and uB 46 53 61 7 91 1 132 | 1715 | 1715
painted black. XD 142 160 170 190 210 230 275 315 335
L2 55 55 6,5 6,5 10 10 10 10 11
S5 (H13) 6,6 6,6 9 9 11 11 14 18 18
Weight gr. 90 130 190 340 580 960 1890 2830 3940

Simple rear trunnion with support bracke(not specified by ISO-VDMA standards) |

Ordering code L.
1380.9.11F
1320.9.11/1F ,f(}\
(Simple counter 2
clevis 90°) o

e
XD+stroke

Bore 32 40 50 63 80 100 125 160 200

C (JS 15) 32 45 45 63 63 90 90 140 140

D 18 25 25 32 32 40 40 50 50

E 45 52 65 75 95 115 140 180 220

H 8 10 10 12 12 17 17 20 20

FL 22 25 27 32 36 41 50 55 60

M (JS 14) 25 32 32 40 40 50 50 63 63
Mounting consists of clevis 09 and right angle TG 825 | 38 | 465 | 565 | 72 89 10| 140 | 175
counter clevis. Used to mount cylinders parallel O (H13) 7 9 9 11 1 14 14 18 18
to the plane to which the counter clevis is P (JS 14) 37 54 54 75 75 103 103 154 154
attached. Allows self-alignment of the cylinder R 20 32 32 50 50 70 70 110 110
rod under load with an oscillation up to 90 IS 41 52 52 63 63 80 80 110 110
degrees from the mounting plane. XD 142 160 170 190 210 230 275 315 335

Weight gr. 130 260 330 600 820 1560 2530 4735 5795




| Cylinders according to standard ISO 15552 Series 1320 W
VDMA 24562 - Accessories - Fixing device PuEuNAX

Square angle trunnion |

16 FL D
Ordering code , ‘
D O
1380.0.35F ~ @ —
1320.0.11/2F o o =S { -
(Simple counter © | Ie) o
clevis) T RO e
: i
u Lol
s R
.
§ Bt
== —8
I7 : ﬁ
XD+stroke
Bore 32 40 50 63 80 100 125 160 | 200
E 45 52 65 75 95 115 140 180 | 220
TG 32,5 38 46,5 | 56,5 72 89 110 140 | 175
FL 22 25 27 32 36 41 50 55 60
D (Js14) 21 24 33 37 47 55 70 97 105
CD (H9) 10 12 12 16 16 20 25 30 30
C (JS15) 32 36 45 50 63 71 90 115 135
H 8 10 12 14 14 17 20 25 30
L3 6,4 8,4 10,4 | 124 1,5 | 145 | 16,8 21 26
R (JS14) 18 22 30 35 40 50 60 88 90
P 31 35 45 50 60 70 90 126 | 130
0 (H13) 66 | 66 | 9 9 n 11| 14 | 14 | 18
S 51 54 65 67 86 96 124 156 | 162
M (JS14) 38 41 50 52 66 76 94 118 122
XD 142 160 170 190 210 230 275 315 335
Weight gr. 120 180 225 | 435 730 | 1220 | 2325 | 3780 | 4950

Standard trunnion (not specified by ISO-VDMA standards) ‘

E
Ordering code e
1380.9.10F O#ﬁ 3 @@Q
ol | ) =l
I @@_ég .y
H1 | H M
c | D E1
uB
=i £
XD+stroke
Bore 32 40 50 63 80 100 | 125 | 160 | 200
C 18 | 26 26 | 34 34 | 4 4 55 | 55
CD 10 12 12 16 16 | 20 | 25 30 | 30
D 22 25 27 32 36 | M 50 55 | 60
E 45 52 65 75 95 115 140 180 | 220
E1 25 32 32 46 46 | 56 56 71 71
H 10 10 12 12 16 16 20 20 25
H1 8 10 10 12 12 16 16 20 20
Mounting consists of clevis 09 and counter M - 16 16 | 25 25 | 32 | 32 43 | 43
clevis. Used to mount cylinders at a right N 28 38 38 54 54 90 90 150 | 150
angle to the plane to which the counter clevis @) 7 9 9 11 11 14 14 18 18
is attached. Allows self-alignment of the P 40 52 52 75 75 115 | 115 | 180 | 180
cylinder rod under load with an oscillation of + TG 32,5 38 46,5 | 56,5 72 89 110 140 | 175
60 degrees. UB 45 52 60 70 90 110 130 170 | 170
XD 142 160 170 190 210 | 230 | 275 315 | 335
Weight gr. 110 190 240 490 710 | 1290 | 2090 | 3690 | 4810

S R



Cylinders according to standard ISO 15552
VDMA 24562 - Accessories - Fixing device

Rear narrow clevis |

Ordering code e G
1380.0.30F . H |
ol e
it D | |
L1 T
| L2 B1
L |H B2

j )
== =)
i ||
XD+stroke
Bore 32 40 50 63 80 100 125 160 200
B1 (H 14) 14 16 21 21 25 25 37 43 43
B2 (d 12) 34 40 45 51 65 75 97 122 122
B3 (x0.2) 33 43 43 43 43 6,3 6,3 6,3 6,3
CN (f7) 10 12 16 16 20 20 30 35 35
E 45 52 65 75 95 115 140 180 220
H 9 9 1 11 14 14 20 20 25
L 13 16 16 21 22 27 30 35 35
Utilized with clevis 15F allows the cylinder to L1 (=03) 11,5 12 14 14 16 16 24 265 | 265
oscillate in all directions. Made of aluminium L2 (05) 5,5 5,5 6,5 6,5 10 10 10 10 11
alloy, painted black. S5 (H13) 6,6 6,6 9 9 11 11 14 18 18
T (202) 3 4 4 4 4 4 6 6 6
TG 32,5 38 465 | 56,5 72 89 110 140 175
XD 142 160 170 190 210 230 275 315 335
Weightgr. | 70 115 200 290 570 820 1710 | 3010 | 4380

Rear male clevis (with jointed head according to DIN 648K standard) |

EN

Ordering code

EU CN
1380.9.15F ER

L2

S5 G

G E

XD+stroke

Bore 32 40 50 63 80 100 125 160 200
CN (H7) 10 12 16 16 20 20 30 35 35
E 45 52 65 75 95 115 140 180 220
EN (-0.1) 14 16 21 21 25 25 37 43 43
ER 16 19 21 24 28,5 30 40 45 48
EU 10,5 12 15 15 18 18 25 28 28
FL(JS15) | 22 25 27 32 36 41 50 55 60
Utilized with clevis 30F allows the cylinder to H 9 9 1L n 14 14 20 20 25
oscillate in all directions. Made of aluminium L2(x05) | 55 55 6,5 6,5 10 10 10 10 11
alloy, painted black. S5(H13) | 66 6,6 9 9 1 1 13,5 18 18
TG 32,5 38 46,5 | 56,5 72 89 110 140 175
XD 142 160 170 190 210 230 275 315 335
Weight gr. | 60 100 180 245 480 650 1410 | 2420 | 3840




| Cylinders according to standard ISO 15552 Series 1320 W
VDMA 24562 - Accessories - Fixing device PuEuNAX

‘Intermediate trunnion Series 1319 + 1321 |

Ordering code

1320.9.12F

O T

R -

=D - - e

XV (min)

Clevis to be mounted on the barrel to have the
center of rotation of the hinge pin at a point
between the end plates of the cylinder. It is Bore 32 40 50 63 80 100 125 160 200
attachet to the barrel by means of 8 pointed A 49 62 73 87 109 130 155 190 240
grains that block in the "V" groove of the four [ 18 21 21 27 27 32 32 40 40
protruding shapes. In the case of anchorage D (e9) 12 16 16 20 20 25 25 32 a2
subject to heavy use, it is recommended to
connect the clevis once the right position has TL (h14) 12 16 16 20 20 25 25 32 32
been found. ™ (h14) 50 63 75 90 110 132 160 200 250
Attention: mounting of the clevis with contact to uw 59 62 73 87 109 | 130 | 185 | 190 240
the end plates does not allows the use of the XV (max.) | 85 96 102 109 | 1235 | 131,56 | 162 193 204
magnetic sensors as the switch limits. XV (min.) 61 69 78 86 96,5 | 1085 | 128 150 168

Weight gr. 180 270 330 650 890 1550 1950 3580 5850

Intermediate trunnion Series 1386 + 1388 - 1396 + 1398

Ordering code —
1386.9.12F /‘\
o 4
S e ™ L
XV (max)+stroke
— F:
I
AN LAs
| - —0————
P
XV (min) o
Clevis to be mounted on the barrel to have the
center of rotation of the hinge pin at a point
between the end plates of the cylinder. It is
attgchetltot:]he barrel fby mﬁans of 8 bpowtltetd Bore 32 40 50 63 80 100
grains. In the case of anchorage subject to A 498 626 741 89 1 1001 | 130.1
heavy use, it is recommended to connect the S ; o1 o1 5 5
clevis once the right position has been found. 8 ’ 7 30
TD (e 9) 12 16 16 20 20 25
Attention: mounting of the clevis with TL(h 14) 12 16 16 20 20 25
contact to the end plates does not allows the T™ (h 14) 50 63 75 90 110 132
use of the magnetic sensors as the switch limits. uw 70 78 91 94 130 145
XV (max.) 80 91,5 97,5 106,5 118,5 127
XV (min.) 66 73,5 82,5 88,5 101,5 113
Weight gr. 195 350 430 565 1035 1450




Cylinders according to standard ISO 15552

‘Support for intermediate trunnion |

D3 B2
D2 Lo
Ordering code ; ‘ T :?:
1320.0.12/1F HEHOOT z BN
(1 piece) 1 I'E e
L o
. (CEC —
B1
= Jio 0| -
(] ©
Bore 32 40 50 63 80 100 125 160 200
A (x0,2) 32 36 36 42 42 50 50 60 60
B1 46 55 55 65 65 75 75 92 92
B2 18 21 21 23 23 28,5 28,5 40 40
B3 71 87 99 116 136 164 192 245 295
(¢} 10,5 12 12 13 13 16 16 225 | 225
D1 (F7) 12 16 16 20 20 25 25 32 32
D2 6,6 9 9 11 1 14 14 18 18
Combining two supports to the D3 L 15 15 18 18 20 20 26 | 26
intermediate trunnion it is possible to fix H1 30 36 36 40 40 50 50 60 | 60
the cylinder on plane surface. H2 (£0,1) 15 18 18 20 20 25 25 30 30
H3 7 9 9 11 1 13 13 17 17
Weight gr. (1 piece)| 100 150 150 235 235 435 435 850 850

Rod forks and nuts

E
Ordering code F E
|
1320.9.13F || i @
!
1320.size.F < ‘ ‘
(for cylinder egdiLar) © T ‘
|
i |
KK
E
F
1320.9.13/1F n”
(from @ 32 to @ 100) [,, T o
1320.size.13/1F < ‘
(for cylinder eg@kar) © T
T
KK
1320.0.18F Q 7
1320.size.18F . @ .
(for cylinder msaLar) H \
n_/ X7
T S
Bore 25 32 40 50 63 80 100 125 160 200
A 52 52 62 83 83 105 105 148 188 188
B 20 20 24 32 32 40 40 56 72 72
Fork: C 40 40 48 64 64 80 80 110 144 144
Element that when screwed to the rod |E 20 20 24 32 32 40 40 55 70 70
consents a regular functioning even when F(B12) 10 10 12 16 16 20 20 30 35 35
there are significant lateral forces as the |G 10 10 12 16 16 20 20 30 35 35
connection point. Made of zinc-plated steel.  |S 17 17 19 24 24 30 30 41 55 55
Nut: T
6 6 7 8 8 9 9 12 18 18
Used to block the position of the fork. KK
* Available only for E@@C%LAT‘ version M10X1,25 |M10X1,25M12X1,25 | M16X1,5 | M16X1,5 | M20X1,5 |[M20X1,5 | M27X2 | M36X2 | M36X2
Weight | Forks / 100 140 340 340 680 680 2500 4000 4000
gr Nut / 15 20 20 20 40 40 100 210 210




Cylinders according to standard ISO 15552 Series 1320 W’_
VDMA 24562 - Accessories - Fixing device f—

Ball joint |
Ordering code ; F
1320.0.32F >
1320.size.32F : :
(for cylinder egdELar) / \ !
@ (D 15 ‘7 -
< |
J [ |
\ \
\ - \
B : d i
M kK
S
Bore 25 32 40 50 63 80 100 125 160 200
A 57 57 66 85 85 102 102 145 165 165
B 20 20 22 28 28 33 33 51 56 56
c 43 43 50 64 64 77 77 110 125 125
D (-0,1) 10,5 10,5 12 15 15 18 18 25 28 28
E 28 28 32 42 42 50 50 70 80 80
F 14 14 16 21 21 25 25 37 43 43
G(H7) 10 10 12 16 16 20 20 30 35 35
KK M10x1,25|M10x1,25 |M12x1,25 | M16x1,5| M16x1,5 M20x1,5 M20x1,5| M27x2 | M36x2 | M36x2
M 19 19 22 27 27 34 34 50 58 58
S 17 17 19 22 22 30 30 41 50 50
T 6,5 6,5 6,5 8 8 10 10 15 17 17
Weight gr. / 76 110 220 220 410 410 | 1200 | 1600 | 1600
Self-aligning joint
Ordering code
1320.0.33F SW2 - SW. Sw3
1320.size.33F
(for cylinder ecasLar) i\ X
o x~ | = NVH— . _
° X
i) = v
T L/
D B SW1
C
A
Bore 25 32 40 50 63 80 100
A 71 71 75 103 103 119 119
B 20 20 20 32 32 40 40
C 46 46 46 63 63 71 71
D 20 20 24 32 32 40 40
E 32 32 32 45 45 45 45
KK M10x1,25 |M10x1,25/M12x1,25 |M16x1,5 M16x1,5 | M20x1,5 |M20x1,5
SW 12 12 12 20 20 20 20
SW1 19 19 19 27 27 27 27
Sw2 17 17 19 24 24 30 30
SW3 30 30 30 41 41 41 41
T 6 6 7 8 8 9 9
Weight gr. / 220 230 660 660 700 700




/| Series 1370 + 1373 Accessories - Fixing E@;@FL&T

‘ Front and rear flange
Ordering code Size 50-63
rderi '
Size 25-32-40 R ME
1370.size.03 MF, N\ (7
‘E T 1]
T 1]
| 1]
.-y
<& <= TT
'y ]
-
ul
1 a —a
sHge|
N L OO 518
T B 1 T PL
¢ | Size 25 | 32 40 | 50 63
A 112 130 146 157 157
B 20 24 30 38 50
JDF 55 6.6 6.6 9 9
Plate which allows anchorage of the E E @DL 10 1 1 15 15
Mountedtothecyindor by scroms. — oL 57 .65 63 83 . 83
y Y : MF 10 10 10 12 15
R / / / 21 33
TF 100 115 132 140 140
ZF 82 92 96 106 112
Foot bracket
Ordering code Size 25 Size 25-40-50-63
1370.size.05/1F % (- )
(n° 1 piece)
s % R
) L/
C
: I | ©
L
y EL " 1 1 1
) XA+STROKE AO &) O c
‘ SF wn -,
% I I
- -t B = o ——— M -1- L fa) mn
% $ $ 3 Q YY)
L
R
]
- e —— o1
| SA+STROKE | u| [size 25 | 32 40 | 50 | 63
AH 28 32 40 50 63
AO 7 5.5 7 8 10
Brackets used to anchor the cylinder C 20 24 30 38 50
parallel to the mounting plane. @DF 5.5 5.5 5.5 6.6 9
Manufactured from steel with a rust proof FL 16 18 20 24 27
protective treatment.  Mounted to the ME 3 3 4 4 4
cylinder end caps with bolts. R / 13 16 29 30
SA 94 108 116 130 136
XA 86 98 105 116 119




. - i —
Accessories - Fixing E@@L‘%LAT Series 1370 + 1373 W

FNELNAX

‘ Rear male clevis
Ordering code
1370.size.09/1 _EB_ R
< )
,_./ o
@)
oy )
B H|L
FL
Size 25 32 40 50 63
XD+ STROKE A 37 44 52 65 78
B 9 10.5 10.5 20 25
This type of mounting allows anchorage of @CD (H7) 8 10 12 12 16
the cylinder either parallel or right angle to FL 14 15 18 20 24
plane; the cylinder rod can oscillate and H 6 9 9 " 1"
self-align as necessary when under load
L 8 6 9 9 13
MR 7.5 10 13 13 17
XD 84 95 103 112 116
Rear clevis
Ordering code
1370.size.09F R
MR
« _—
Q _—
| A |
T &
T
G
To be used in conjunction with 09/1 clevis. Size 25 32 40 50 63
Similar to type 08 but includes a hinge pin. A 49 60 60 46 60
This type of mounting allows anchorage of AH 25.5 33 29.5 24 32
the cylinder either parallel or right angle to B 9.1 10.6 106 | 20.1 25.1
plane; the cylinder rod can oscillate and OEK 8 10 12 12 16
self-align as necessary when under load. FL
Manufactured from sheet metal with rust L gg gg ‘51; gg 22
proof protective treatment
MR 9.5 11 14 14 18
TG 40 50 50 30 40
[5)Y% 5.5 6.6 6.6 9 11

4.100



Cylinders according to standard ISO 15552-VDMA 24562
Accessories - Fixing device - Steel option

Rear clevis (MP2) |
Ordering code
1320.0.20F
1320.0.19F
(front clevis
without pin)
— — il
— J
o I 1 1Q)
I |
| — —I
— — J
XD+ stroke
E
G
Bore 32 40 50 63 80 100 125 160 200
%} @\ CB (H 14) 26 28 32 40 50 60 70 90 90
T/ N\ o CD (f7) 10 12 12 16 16 20 25 30 30
| el s | R E 45 55 65 75 95 115 140 180 220
Il @ | H 10 10 10 12 14 16 20 20 20
" . L 12 15 17 20 22 25 30 35 40
e " L 2 (+0.5) 55 55 6,5 6,5 10 10 10 10 11
MR 10 12 12 16 16 20 25 25 25
S5 6,5 6,5 9 9 11 11 13,5 18 18
TG 32,5 38 46,5 | 56,5 72 89 110 140 175
UB (h 14) 45 52 60 70 90 110 130 170 170
XD 142 160 170 190 210 230 275 315 335
Weightgr. | 180 290 400 670 1160 | 2000 | 3890 | 6730 | 9880

Rear male clevis (MP4)

Ordering code
1320.0.21F
En BER
=B — O
L]
= il
- —_— i
XD+stfroke
Bore 32 40 50 63 80 100 125 160 200
CD (f7) 10 12 12 16 16 20 25 30 30
" E 45 55 65 75 95 115 140 180 220
EW(53) 26 28 32 40 50 60 70 90 92
H 10 10 10 12 14 16 20 20 20
L 12 15 17 20 22 25 30 35 40
L 2 (+0.5) 55 55 6,5 6,5 10 10 10 10 11
MR 10 12 12 16 16 20 25 25 25
S5 6,6 6,6 9 9 11 11 13,5 18 18
TG 32,5 38 46,5 56,5 72 89 110 140 175
UB (h 14) 46 53 61 71 91 111 132 | 171,56 | 1715
XD 142 160 170 190 210. 230 275 315 335
Weightgr. | 210 330 430 810 1350 | 2400 | 4300 | 6880 | 8560




| Cylinders according to standard ISO 15552-VDMA 24562 Series 1320 W
Accessories - Fixing device - Steel option Peumax

‘Standard complete trunnion |

Ordering code
1320.9.22F
{—} —
==l =
L
| — |
XD +stroke
Bore 32 40 50 63 80 100 125 160 200
CD 10 12 12 16 16 20 25 30 30
E 45 55 65 75 95 115 140 180 220
FL 22 25 27 32 36 41 50 55 60
L2 (+0.5) 5,5 55 6,5 6,5 10 10 10 10 11
S5 6,6 6,6 9 9 11 11 13,5 18 18
TG 32,5 38 46,5 56,5 72 89 110 140 175
XD 142 160 170 190 210 230 275 315 335
Weight gr. 360 580 780 1370 2370 4110 7670 | 12650 | 17480

'Square angle complete trunnion

Ordering code

1320.0.23F
1320.0.24F
(Simple square R
counter clevis)

[
gl

XD+stroke

Bore 32 40 50 63 80 100
CA (JS 15) 32 36 45 50 63 71

CD 10 12 12 16 16 20

c E 45 55 65 75 95 15

- 0o FL 22 25 27 32 36 41

" G1(JS14) | 21 24 33 37 47 55

. G2(JS14) | 18 22 30 35 40 50

o G3 31 35 45 50 60 70

wl o = —’f = O 1— H3 8 10 12 12 14 15
< K1(JS14) | 38 41 50 52 66 76

| b ° K2 51 54 | 65 | 67 | 8 | 96

a lss || =] 2 éi(&o% 7,5 8 10 10 11 12

6,6 6,6 9 9 11 1

« L2 TG 32,5 38 465 | 56,5 72 89

c3 XD 142 160 170 190 210 230

Weight gr. 340 500 640 | 1250 | 2100 | 3500




Cylinders according to standard ISO 15552-VDMA 24562
Accessories - Fixing device - Steel option

Rear leavis - narrow |

Ordering code
| El, ] -
1320.0.29F
==l SR =
—]
] HI, — 1 |-
XD+stroke

Bore 32 40 50 63 80 100 | 125

E B1(H14) 14 16 21 21 25 25 37

cN G B2(d12) 34 40 45 51 65 75 97

9 B 3 (x0.2) 33 43 43 43 43 6,3 6,3

IS %} ‘ {}N CN (f7) 10 12 16 16 20 20 30

2 " — — E 45 55 65 75 95 115 140
(E)D - | E o w H 10 10 10 12 14 16 20
N [ ‘ } L 12 15 17 20 22 25 30

1= & NS L1 (0.3) 1,5 12 14 14 16 16 24

4 . L2 (x0.5) 55 5,5 6,5 6.5 10 10 10

- S5 (H13) 6,5 6,5 8,5 8,5 10,5 | 10,5 13

| L2 _81 | T (x0.2) 3 4 4 4 4 4 6

L B2 TG 32,5 38 46,5 | 56,5 72 89 110
XD 142 160 170 | 190 210 230 | 275
Weight gr. 160 270 370 | 670 1110 | 2100 | 4150

Rear male cleavis (with joined head according to DIN 648K standards) |

Ordering code

1320.9.25F

i i
| m

XD-+stroke

EN

N N Bore 32 40 50 63 80 100 | 125
‘ CN(H7) 10 12 16 16 20 20 30

. ER E 45 55 65 75 95 115 | 140

i ‘ EN (-0.1) 14 16 21 21 25 25 37

¢ | - ER 15 18 20 23 27 30 40
Erg . — et - EU 10,5 12 15 15 18 18 25
i A FLJS15) | 22 25 27 32 36 41 50

% © = H 10 10 10 12 14 16 20

. ] L2(*05) | 55 55 6,5 6,5 10 10 10

i S5(H13) | 65 6,5 8,5 85 | 105 | 105 | 13

TG 325 38 465 | 565 | 72 89 110

XD 142 160 170 190 | 210 | 230 | 275

Weightgr. | 210 | 310 400 710 | 1350 | 2400 4000




Cylinders according to standard ISO 15552-VDMA 24562
Accessories - Fixing device - Steel option

Series 1320 »}

‘Complete standard trunnion (with joined head according to DIN 648K standards) |

Ordering code

1320.9.26F

>
= = | :
= ] —
L
\
,H, —1 .
XD+stroke
Bore 32 40 50 63 80 100 | 125
O w CN 10 12 16 16 20 20 30
E 45 55 65 75 95 115 140
FL (x0.2) 22 25 27 32 36 41 50
L2 (x0.5) 5,5 55 6,5 6,5 10 10 10
S5(H13) | 65 6,5 8,5 8,5 10,5 10,5 13
TG 32,5 38 46,5 | 56,5 72 89 110
XD 142 160 170 190 210 230 | 275
Weight gr. | 380 580 770 | 1380 | 2460 | 4500 | 7700
Complete square angle trunnion (with joined head according to DIN 648K standards) ‘
Ordering code
1320.0.27F
1320.9.28F
(Simple counter
clevis) =
=3l *
=
XD +stroke
Bore 32 40 50 63 80 100 125
CHJS15) | 32 36 45 50 63 71 90
E CN 10 12 16 16 20 20 30
G R @l E 45 55 65 75 95 115 140
o FL(JS15) | 22 25 27 32 36 41 50
z G1(JS14)| 21 24 33 37 47 55 70
wl o 3 — G2(JS14)| 18 22 30 35 40 50 60
- \ ‘ . G3 31 35 45 50 60 70 90
L ‘ S . © H6 10 10 12 12 14 15 20
th ar T K1(JS14) | 38 41 50 52 66 76 94
K ss |1 al 2 K2 51 54 65 67 86 9% | 124
K2 |e2_ L 3 (x0.5) 7,5 8 10 10 1 12 17
e3 S5(H13) | 6,6 6,6 9 9 1 1 13
TG 32,5 38 46,5 | 56,5 72 89 110
XD 142 160 170 190 210 230 | 275
Weightgr. | 330 480 830 | 1220 | 2100 | 3580 | 7000






